EHABM (ADSX]

BB [F03F058248 BEWAHAYRU=D3T
[={ivi K 8 B | @E | 60 GR HDCP NET #E
= 86 B— 38| 41 79 80 710
g 52 VAT 37| 37 74 1.0 730
3 AlIF 3 39| 42 81 80 730
4 Tt F0RY 37| 41 78 4.0 740
5 W B 36| 37 73 -20 750
6 BB AX— 43| 35 78 3.0 750
7 DIl ES 40 | 39 79 4.0 750
8 U N ) 39| 47 86 110 750
9 Kig WX 37| 41 78 1.0 770
10 YN 41 | 40 81 4.0 770
11 eH B= 38| 47 85 80 770
12 =20 =& 40 | 42 82 4.0 780
13 6E o 42 | 44 86 80 780
14 I = 42 | 39 81 20 790
15 i B8 39| 44 83 4.0 790
16 Wwo fB— 43 | 41 84 3.0 810
17 WD 355 41 | 43 84 3.0 810
18 fElE hAH 41 | 45 86 2.0 810
19 hoEEx = 41 | 47 88 7.0 810
20 hE MF 46 | 46 92 110 810
21 JI\BE 88X 39| 45 84 20 820
22 b 2z 42 | 45 87 2.0 820
23 B b 42 | 46 88 6.0 820
24 hS B 47 | 43 90 80 820
25 GH B& 43| 49 92 100 820
26 hs B 49 | 44 93 100 830
27 AN B 45| 43 88 3.0 85.0
28 T8 E— 46 | 90 96 110 85.0
29 BIR {2BS 43| 54 9r| 120 850
30 * 188 47| 47 94 2.0 89.0
31 iE 2 45| 48 93 20 910
sH - 40 | 40 80 AEEIRHE
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EWAYERU=DST

(=3 v) K 2 Bk | 8 | Zem| GR |HDCP| NET [EES]
=l NEB 42 | 43 85| 130 | 720
HEB| O ERF | 41| 45 86| 140 | 720

3 /O fgm 45 | 46 91| 160 | 750

4 8 Hx 50| 52 102 | 180 | 840

S XN Bs— 48 | 51 99 | 130 | 860

© FH B 48 | 55 103 | 140 | 890
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(=3 1v K 2 Bk | | | Zem| GR |HDCP| NET [EES]
{2l VNI N 5 43 | 48 91| 190 | 720
H#ig BeA &= 46 | 49 95| 190 | 760

3 BA BE 46 | 49 95| 190 | 760

4 AN IS 47| 49 96| 190 | 770

5 Eg I 82 | 49 1011 240 | (70

© i} 5l 54 | 56 110 | 230 | 870
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